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Third term test of English N°2
Read the text and do the activities.

The scanner is a machine, which can produce pictures of body tissues. The first
scanner was produced by doctor God Frey Homsfield in 1972 .Now the scanner can give
doctors more information about their patients and help_them to make accurate diagnosis.

This machine has a bed, a scanning unit, a computer control panel and a television
screen.The scanner examines the body in pieces of thirteen millimetres thick .To make a
picture of a complete pieces takes only twenty seconds .During this period there are 300.000
readings

The computer receives all this information, processes it and makes a picture of the
pieces which is seen on the screen .the information is then stored by the computer.

A)- Comprehension / Interpretation

[ The text is about: a- Science development b- Inventions and discoveries c- New invention.

Choose the right answer. (0,5p1)......cccccceviieiiiiiieiiciee e

Activity 2: Are these sentences true, false or not mentioned. (2pts)

a- The scanner can help doctors to make accurate diagnosis ...

b- All hospitals can acquire a scanner because it is a cheap machine  ............

c- Doctors used the scanner before 1972 L

d- To make a picture of a complete pieces takes more than twenty seconds .............
Activity 3 : Answer the following guestions according to the text . (3pts)

a- Name the different parts of the scanner?

Activity 4: What or who do the underlined words refer to in the text? (1,5pt)
a-them(.81).................. b-this period(82)................
O | ((S1C) I

TEXT EXPLORATION:

Activity 1: Find in the text words that are opposite in meaning to the following (1.5pts)
a- sendsZ......ooounn... b- last#....ccoooe..... d-thin #.........




Activity 2: Complete the table.(1.5pts)

Noun | ENEIJY | i

Adjective Inventive | L, Developing

Activity02: Combine the following sentences using the words in brackets. (4pts)

a- The computer allows us to get information .1t causes eyesight problems (although)

f- He is running. He wants to catch the 7:30 train. (In order to).

Activity 3: Match the sentences from columns A and B , then join them using ‘so + adjective + that’

(2pts)

a- The exam was difficult. 1-An average hospital can not have one
b- The scanner is expensive 2- Every body has one.
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b-...

Activity4: Classify the following words according to the pronunciation of the final “ed”: (2pts)
Studied, Adopted, worked, received, noticed, used, stoped, protected.
It/ /d/ /id/

Activity 05: Re-order the following sentences to get a coherent paragraph.(2pts)
........ a-Thanks to their inventions and discoveries,
........ b-and work in easier and safer conditions.
........ c-Scientists play an important role in the life of people.
........ d-we have the possibility to eat better, have a sounder health

Best of luck ©




